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And does not >''28% maintain that one who returns a lost object
is exempt from taking an oath

OVERVIEW

The X713 cited a dispute between the °"ax7 and the 0107 in a case of a 77IA
MYy nwva n¥pna. Currently' the X3 understood this to mean literally that
the MY approached the son of the (deceased) m%n and admitted to borrowing
a mn from the m%n; however the M> claims he repaid the father half. >"2x"
maintains that it is a case of n¥pna 77 and the 7% must swear to the son
that he indeed paid half. The o°non argue that here, since the m?> initially
approached the son of the m%n, the M7 is considered a 77°a8 2°wn (for he
could have chosen not to come forward at all), and is therefore exempt from
the nxpna 771 n2aw. The X3 challenges the view of °"aX7 and asks ‘can it
possibly be that >"2x7 does not agree that a 77°2X 2°wn is MWD from a 712w’ ?!
The issue at hand is why the X723 is so certain that °"2X7 maintains that a
77°2R 2°wn is Mo from a 7312w, There is a NP7 between *"wA and Moo in
explaining the s'®7%3 assumption.
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>'"w9 explained that the X773 assumed that >"ax" definitely agrees that a 2°wn
777K 1s MW from a 72w, for we learnt in a 7w that one who finds a
lost article is not obligated to take the oath of a n¥pna 77, on account of

‘the betterment of society’. This '0%wn 1°n' should apply to every type of 2wn'
'R, including our case, where the M7 claims '079 1°’n7°58M'; where he did not have to
declare initially that he owed the father money.® -

! According to the 3701 of the X713, however, the dispute between >"aX7 and the 0’317 is not in a case of X
1w 777, In a case of w20 777 X all agree that he is a 77°a8 2°wn and a 772K 2°wn is 712w W,

2 A nxpma 77 is one who admits to owing partially what the plaintiff claims that he owes. A nxpna 771 is
211 a Xn»RT 712w, The X773 shortly explains the ‘reason’ for this.
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3 If a mxexn XY would be required to take the oath of a nxpna 771 (in a situation where the owner claims
that the 77°2X was greater than what the XX is returning), then people would refrain from returning Mm72x,
out of concern that they be obligated for a ¥n>IX7 7y12w. Therefore the 0dn instituted that a 77°2K 2°wn is
aY12Wn MS.

% The current understanding of the Xn»92 is that we are discussing a case of ¥y nwv literally, which
seemingly means W20 727 PX.
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And there are texts which state this explicitly; in some texts it is written that

"2k cannot disagree with the ruling that a 772X 2°wn is A¥1awn MWL, since ‘there is a
mIwn that states 027 PN 197 Yaw° XY ARXD RN .

It is the opinion of " (and the '2>790 n°X') that a 77°2X 2°wWn in general, as well as our
case of °"ax", is Mwd from a 7YIAw on account of the 2°15n NIPN; but not XN»KTA.
According to 770 law a 77°28 2°w» would be 7312w 277, MdOIN, however, disagrees:
= 1)1 DYVN RNMNINTI VO NTIAN YNT PNYY 139295 NI PN)
And the 5" disagrees; it cannot be that a 77°2X 2°wn is Mo from a 7AW
only 09w 1PN °197; but rather a 77°a8 29» is MWD from a 712w according
to 70 law, for he has a 3. The 7728 2°wn (in general, and the M in the case of
»"2X7) did not have to come forward at all and he could have kept everything -
- 113 1199 1P 99) 7599 NYN 7599 NIYM X¥NN NN N
And the X723 is not challenging that >"2X7 must maintain Mvd 77°2X 2°W1 on
account of that 7w» which states 121 7x°¥n xx77',” but rather, the x93 is
questioning, does not °"'2X7 maintain the rule of 1an?! It seemed obvious to the

X3 that everyone agrees that W is effective *xn™xn (especially the Wwn of a 2wn
772K, as in our case of 1%y nivy)!

mooIn offers a proof that the question of the X3 that »"ar12 7°% n°% *27, is not dependent
on the mwn of IX°¥» XXM (which is a [22Wwa 1Pn] 13277), but rather on account of 1
(which is a xn» 7 77):°

- 9919 1NN KEINDN PNYS 399 195 1Y T299 (0w x,x 47 pos) PPTIIND AWM 199
And this is also indicated in 1’25177 P79 where the X 13 challenges ‘does

7 The fact that the mwn states D27 1PN *10n ¥aw»> K 191 X¥m:, does not compel *"ax7 to agree. *"ax1 is a
X1n, and he may disagree with this 71wn. Alternately, the 71wn states that a 77°28 2°Wn is A¥12WA 7LD, on
account of 07w 19n; otherwise people will not return M7°2axX. In the case of *"ax", however (which is an
unusual situation), there may be no need for a ruling that he is 7y12wn MW because of a 22Wn NPN; since
even if he is required to swear, there will be no major disruption, as there would be by 77°2x 2°wn.

¥ See the xm further on X,20 77 (after the 71wn).

% It would seem that a (regular) 77°a8 2°wn who is a W2 777 1R2 NXPPa 777 (the owner confronts him only
after he returns the 77°aR) is 7v12wn ML even without 29Wwn NP, for he has a 1. He did not have to come
forward at all. The 07w NP0 may be required in a case where the owner initially approaches the X¥ and
claims that he saw him pick up two [attached] lost objects, which belong to the owner. The finder claims
that he picked up only one object. This is a case where the finder has no 1% of claiming I found nothing,
since 121 "Y1 DX PR to be a 7377 7912, It is in this case (or similar cases) that the 2°n51 exempted him from a
027w 1PN *19n aviaw. See following footnote # 10.

19515 stated that if the owner claims I lost two purses which were tied together, and the finder claims that he
found only one; the finder must take the oath of a n¥pna 77n. See the 2"w iy there who explains under
which circumstances did "1 rule that he has to swear. See previous footnote # 9.
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not "1 agree with the mwn which states that a aR°x» X3¢, etc. is not
obligated to take an oath’. How can *"7 who is an X7R rule that the finder is required to
take the oath of a n¥pna 77M?! This contradicts a mawn!

= 9010 YaW) DINY DN 9INT 2PYS )2 9TYIN 5295 9NINT NIN 23U

And the X723 answers that > follows the opinion of ''289 who maintains,
that sometimes a person swears, etc. on his own claim.'' This answer
(seemingly) indicates that >"ax7 who is a Xin disagrees with the 71wn of "1 AXXn R¥MAT.

»""2X7 maintains that a 77°2X 2°wn is obligated to swear. >"1 follows the ruling of *"2x7 —
= 909 NTAN YN MY Y APYS )2 TYIN 29) 7°9D)

And the X713 there challenges (similar to the challenge in our X713); ‘does

not °''aR" maintain that a 792K 2% is WD from a 7y12w’. This concludes the
citation from that X2na.

mMooIn continues with his proof:
= 199 PNINN NN IN NNV

And now let us see, if (as *"w7 maintains, that) the challenge to >"2X" is
from the ‘strength’ of the 1w which states 13 Ax*¥n Xx17, then the X3 —

- DAY YN VINPTI NN NN APY? 12 YN 225 799 1¥9) 993939 1Y N
Should have said and presented its challenge in the following manner: does
not >'"28" agree with the Mwn of ANRXR RXM7, as the X3 stated when it
posed the challenge to 5''9. The xn3 clearly asked X°%n X¥W7 2" 779 19, the same
should have been asked on >"ax7. The fact the question on >"aX7 was phrased differently
(77728 2°wn 2 n°7) than the question on *"1 (which was nX°%n X¥117 7°% 1°77), proves that

they are different questions. The question on *"ax" is not on account of the '*mwn (where
itis only a 0?wn 1PN *191m MWL), but rather on account of W (which is a X RTH VD).

mooin offers an additional proof that the question on *"aX7 in not based on the mwn of
RN RXINT:
= APy’ 12 MTYHN 1395 9INT NI IYNT 119 T

And furthermore since the X7 answered on its original question (does
not *"1 agree to the 71wn of X X1 XX117; to which the X773 answered) that >

follows the opinion of 3''ax" —

= POINNN MDD APYS 12 TYHN 2297 9910 NN 15 ON
This implies that the X712 intends to state that ''ax9 argues on our 7wn»
of X°xn X177, This is the thrust of the question and answer. The question is how can "9
(who is an X7nR) argue on the 7I1wn of ARXn X¥W7; to which the reply is that he can

" The X there cites the same Xn*93 as here, concerning *"2x".
'25"2%7 may indeed argue with the 7awn, etc. See footnote # 7.
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disagree with this 71wn since he has the support of *"ak7 (who is a Xin), who seemingly
also argues on that 71wn —
- 99 NTAN 2PWUN NPT Y 2PYS 13 9TYIN 229) 7999 NN )3 DN

If that is so, then why does the X712 ask, ‘does not >''289 agree that 2sw»

717aR is MWB’ (which according to >"w1 means does he disagree with the mawn of 2wn

772X), how is this a question?! —
— 1199 197 ) 95N PN

Indeed this is how it is! >"ax1 does not agree with the mwn!"® This is exactly what

the answer on the first question (on >"7) was!
$NPYIIDTD 7099 M NON NON

But rather, the question on °"2X7 is on account of 1»; how can it be that
*"aR7 does not subscribe to the rule of A, which is a Xn»MR7; as 1 have
previously explained.

SUMMARY

The assumption that °"ax7 agrees that a 7728 2°Wn is MWD from a 72V is
based, according to >"w", on the 73wn of 02Wn PPN 2191 Yyaw© XY 101 XY, and
according to npOIN it is based on the rule of w». NMBOIN proves his
contention, from the manner in which the X723 (in 7°0°) challenges >"ax".

THINKING IT OVER
1. What are the relative advantages of each of the two proofs that nvoIn
cites from 7°0°1?

2. What is the essential difficulty that m»oIn has with >"w75?

3. How can m»0n claim that a 77°2K 2°Wn 1s RNPNIRTA 9y12wWH M09, when the
IV 1n YO Clearly states '02wn PN °19% Yyaws XY 1INOXN NEVDH‘?!M

4. What would the 17 be if an 71X 7V supports the claim of the owner against
the finder?

13 This is only in the R1»X M7, when we assumed 1M¥¥Y N1vv to be literal. However in the X1pon even *"'ax"
agrees that a 772X 2°Wn is 7¥12WN L1, (even when there is no ).
4 See footnote # 9.
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